E)Ib%f_;é ’H& /~Al|‘ )93 E #ﬁﬁ

BEREAI : BENBRATYEPH) REREM - 107/07/02 1BERS : BRIRWD
HIREG) : 2 5EERS M (abs) :
we | memn | SETE R R TIFRARCBRR
FORUK | DMURK | SERK | DOURK

1| BSRHEERR- k1] 3 4

2 | HSRHEERX- G 1 1

3 | HsRHEERX- i1 11 2

4 | BSBHEERR- =R 10 2

5 | BSRHEERR- T8 T 2

6 | BSRHEERR- B 5 1

7 | BSRREERR- KE 3 3

8 | BSBHERR- PN=Ed 9 7
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i 1 RADEEREA THMRE, R TSETRE, WARNSKER

2 ~ IRl (%) = (HIRARKE - REARLE) + HRERE X 100
3 v AChEMMRIRAIERERRIEZL

(1)0-34%(=34.5)&: 618
(2)35—-44% (=44.5) DEE : BAMAMSIHERRNENE - WHRRETHREEHHS -
(3) 45% (>4 4.5) EE : FIRZUKE - UREHFHHREEMNIGE - iSRRXEESNEEGER

B
{LEARER - WKEREEERANREERARE
4~ RERRAER : BERE (-)  BIERME (+) ; BRAFE 1 E+3RAKR50% - 2@+5RAK100%
5 - FIRRIEERHRIEF B - BRBHRKR—EREIRE - MNFESHK
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EEEHA 1 107/07/03 B8RS : pElLa0
ExxERTL(abs) :

e ACHETVEIE (%)
wy | mawm | SPEE 0% =% e
HERK YIS RK IIRK

1| e | 8 19

> | pmEn | SEx i 6

3 | mmmn | e 12 i

4 | pEEmn | B 2 25

5 | pEmER- | oF 2 23

6 | mmEn | =Ex 0 7

7 | msssmar = 2 9

s | mmmm | M3 28 14

o | mmmy- | o 8 15

10 | BEER- | EX5 4 9

1| pEER | e 8 17

12 | pEER | WE 3 1
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2 ~ IR (%) = (HMRHERGE - REERHE) + HWIRERXGE X 100
3 AChEMMHIRAEREREIEL I
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1)0-34%(=34.5)%&:
2) 35—-44% (=44.5) DIEFE  BAAMESAEHIRIEINE - WHRRIETHEBHUHE -
3) 45% (>4 4.5) DEE : FILRZWHE - URIFHRMEMINIGE - ISRRXEEENRERER

(=1

{LBERE - WIKEREEEREBREEIRERS -

4~ REEISAER : BERE (-)

s BIERAE (+)

5  FRRIEERHRIRFEIEL - BRBRKR—ERFIRE  LRNFESEK -

s IBRAT 1 @E+ERKRS5 0% 2@+3FRKX100%
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BEREAI : BENBRATYEPH) REREM - 107/07/04 1BERS : BRIRWD
HIREG) : 2 5EERS M (abs) :
we | memn | SETE R R TIFRARCBRR
FORUK | DMURK | SERK | DOURK

1| BSRHEERR- FRHR 5 16

2 | HSRHEERX- E 5 12

3 | HsRHEERX- ZEILE 2 2

4 | BSBHEERR- ey 2 2

5 | BSRHERR- NEsE 8 1"

6 | BSRHEERR- AR 1" 14

7| ESBHEERR- U] 2 4

8 | MARHEERX- E 5 1
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fest - 1~ RABRRER TEKEE, R TSEPRE , MARRISIRE
2 ~ IR (%) = (HMRHERIGE - REERE) + HWIRERXGE X 100
3 AChEMMHIRAEREREIEL I
(1)0-34%(=34.5)&F:6B-
(2)385—-44% (=44.5) DEE : BIMAMESIHIERRINEINE - WHRRETHEBHHAE -
(8) 45% (>4 4.5) DEE : FILRZWHE - URIFHRMEMNIGE - SRRXEEENRENER

&I
{LENARER - WIKEREEERADEEERARE -
4~ REERAER - BERE (1) 5 BIERE (+) ; BRAT 1B+3FERKR60% > 2@+3RAKR100%
5 - BRRIEERHRIRFEIEL - BRBHRKR—EREIRE - LNFESK -




